
Identified hadron asymmetries

Malte Wilfert

Institut für Kernphysik - Johannes Gutenberg-Universität Mainz

10th May 2017

Malte Wilfert (KPH Mainz) Ah
1 10th May 2017 1 / 5



Kinematics

φ in laboratory frame
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Kinematics

φ in laboratory frame
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Kinematics

Momentum p in laboratory frame
positive hadrons
negative hadrons
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Fit: a + b x
 0.01±a = 3.73 

 0.0005±b = 0.0034 
/NDF = 97.9 / 912χ

 0.009±a = 3.225 
 0.0004±b = 0.0013 

/NDF = 100.3 / 912χ

2Fit: a + b x + c x
 0.02±a = 3.75 
 0.002±b = 0.001 

 0.00004±c = 0.00005 
/NDF = 96.5 / 902χ

 0.02±a = 3.25 
 0.002±b = -0.001 

 0.00004±c = 0.00005 
/NDF = 98.3 / 902χ
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Fit: a + b x
 0.008±a = 2.648 

 0.0004±b = 0.0006 
/NDF = 113.9 / 912χ

 0.007±a = 2.254 
 0.0003±b = 0.0015 

/NDF = 113.2 / 912χ

2Fit: a + b x + c x
 0.02±a = 2.63 

 0.002±b = 0.002 
 0.00003±c = -0.00003 

/NDF = 112.8 / 902χ

 0.01±a = 2.26 
 0.001±b = 0.001 

 0.00003±c = 0.00002 
/NDF = 112.7 / 902χ
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Kinematics

Momentum p in laboratory frame
positive hadrons
negative hadrons
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Fit: a + b x
 0.01±a = 3.72 

 0.0005±b = 0.0003 
/NDF = 127.6 / 912χ

 0.01±a = 3.22 
 0.0005±b = 0.0002 

/NDF = 106.6 / 912χ

2Fit: a + b x + c x
 0.02±a = 3.78 

 0.002±b = -0.006 
 0.00005±c = 0.00014 

/NDF = 118.5 / 902χ

 0.02±a = 3.25 
 0.002±b = -0.003 

 0.00004±c = 0.00008 
/NDF = 103.0 / 902χ
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Fit: a + b x
 0.009±a = 2.625 

 0.0004±b = -0.0001 
/NDF = 104.3 / 912χ

 0.008±a = 2.246 
 0.0004±b = 0.0002 

/NDF = 131.1 / 912χ

2Fit: a + b x + c x
 0.02±a = 2.64 

 0.002±b = -0.001 
 0.00003±c = 0.00003 

/NDF = 103.6 / 902χ

 0.01±a = 2.27 
 0.001±b = -0.002 

 0.00003±c = 0.00005 
/NDF = 128.4 / 902χ
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Kinematics

θ in laboratory frame
positive hadrons
negative hadrons
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Fit: a + b x
 0.009±a = 3.760 

 0.1±b = 1.1 
/NDF = 89.7 / 982χ

 0.008±a = 3.223 
 0.1±b = 0.8 

/NDF = 95.9 / 982χ

2Fit: a + b x + c x
 0.01±a = 3.76 

 0.4±b = 1.2 
 2±c = -1 

/NDF = 89.6 / 972χ

 0.01±a = 3.23 
 0.3±b = 0.3 

 2±c = 3 
/NDF = 93.7 / 972χ
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Fit: a + b x
 0.006±a = 2.613 

 0.1±b = 1.0 
/NDF = 142.5 / 982χ

 0.006±a = 2.244 
 0.09±b = 0.90 

/NDF = 112.0 / 982χ

2Fit: a + b x + c x
 0.009±a = 2.589 

 0.3±b = 2.1 
 2±c = -7 

/NDF = 127.4 / 972χ

 0.008±a = 2.230 
 0.3±b = 1.5 

 2±c = -4 
/NDF = 105.6 / 972χ
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Kinematics

θ in laboratory frame
positive hadrons
negative hadrons
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Fit: a + b x
 0.009±a = 3.725 

 0.2±b = 0.5 
/NDF = 159.1 / 982χ

 0.008±a = 3.213 
 0.1±b = 0.4 

/NDF = 139.3 / 982χ

2Fit: a + b x + c x
 0.01±a = 3.74 
 0.4±b = -0.2 

 3±c = 5 
/NDF = 156.1 / 972χ

 0.01±a = 3.23 
 0.4±b = -0.2 

 2±c = 4 
/NDF = 136.0 / 972χ
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Fit: a + b x
 0.007±a = 2.609 

 0.1±b = 0.5 
/NDF = 125.4 / 982χ

 0.006±a = 2.242 
 0.10±b = 0.40 

/NDF = 126.3 / 982χ

2Fit: a + b x + c x
 0.010±a = 2.595 

 0.3±b = 1.1 
 2±c = -4 

/NDF = 121.2 / 972χ

 0.008±a = 2.239 
 0.3±b = 0.5 

 2±c = -1 
/NDF = 126.2 / 972χ
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Kinematics

z
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Fit: a + b x
 0.01±a = 3.53 
 0.04±b = 0.81 

/NDF = 87.3 / 632χ

 0.01±a = 3.06 
 0.03±b = 0.58 

/NDF = 70.7 / 632χ

2Fit: a + b x + c x
 0.04±a = 3.67 

 0.2±b = 0.1 
 0.2±c = 0.9 

/NDF = 72.7 / 622χ

 0.03±a = 3.16 
 0.2±b = 0.0 
 0.2±c = 0.6 

/NDF = 60.6 / 622χ
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Fit: a + b x
 0.01±a = 2.51 
 0.03±b = 0.43 

/NDF = 77.4 / 632χ

 0.009±a = 2.132 
 0.02±b = 0.45 

/NDF = 85.5 / 632χ

2Fit: a + b x + c x
 0.03±a = 2.60 
 0.1±b = -0.0 

 0.2±c = 0.5 
/NDF = 68.1 / 622χ

 0.03±a = 2.24 
 0.1±b = -0.1 
 0.1±c = 0.7 

/NDF = 65.0 / 622χ
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Fit: a + b x
 0.02±a = 3.58 
 0.04±b = 0.48 

/NDF = 57.0 / 632χ

 0.01±a = 3.08 
 0.04±b = 0.44 

/NDF = 59.8 / 632χ

2Fit: a + b x + c x
 0.04±a = 3.63 

 0.2±b = 0.2 
 0.2±c = 0.3 

/NDF = 55.9 / 622χ

 0.04±a = 3.15 
 0.2±b = 0.1 
 0.2±c = 0.4 

/NDF = 55.8 / 622χ
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Fit: a + b x
 0.01±a = 2.51 
 0.03±b = 0.34 

/NDF = 52.6 / 632χ

 0.010±a = 2.164 
 0.03±b = 0.28 

/NDF = 56.2 / 632χ

2Fit: a + b x + c x
 0.03±a = 2.52 

 0.2±b = 0.3 
 0.2±c = 0.0 

/NDF = 52.6 / 622χ

 0.03±a = 2.17 
 0.1±b = 0.2 
 0.2±c = 0.1 

/NDF = 56.0 / 622χ
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